

## Some Results on the Growth of Polynomials

Abdullah Mir\*, Ajaz Wani and Imtiaz Hussain

Department of Mathematics, University of Kashmir, Srinagar, 190006, India

Received 13 February 2017; Accepted (in revised version) 4 July 2017

---

**Abstract.** In this paper, we have studied the Lacunary type of polynomials and proved a result which generalizes as well as refines some well-known polynomial inequalities regarding the growth of polynomials not vanishing inside a circle. Further the paper corrects the proofs of some already known results.

**Key Words:** Lacunary polynomial, Growth, Bernstien-inequality.

**AMS Subject Classifications:** 30A10, 30C15, 26D10

---

### 1 Introduction and statement of results

For an entire function  $f(z)$ , let  $M(f,r)=\max_{|z|=r}|f(z)|$  and  $m(f,r)=\min_{|z|=r}|f(z)|$ . If  $P(z)$  is a polynomial of degree  $n$  and  $P'(z)$  denote its derivative, then according to a famous result of Bernstien [3],

$$M(P',1) \leq nM(P,1). \quad (1.1)$$

Inequality (1.1) is best possible and equality holds for the polynomial having all its zeros at the origin.

If we restrict ourselves to the class of polynomials having no zeros in  $|z| < 1$ , then

$$M(P',1) \leq \frac{n}{2}M(P,1). \quad (1.2)$$

Inequality (1.2) was conjectured by Erdős and later verified by Lax [8] and is best possible for the polynomials having all its zeros on  $|z| = 1$ .

Aziz and Dawood [1] under the same hypothesis refined the inequality (1.2) and proved

$$M(P',1) \leq \frac{n}{2} \left\{ M(P,1) - m(P,1) \right\}. \quad (1.3)$$

---

\*Corresponding author. Email addresses: mabdullah\_mir@yahoo.co.in (A. Mir), theajazwani@yahoo.com (A. Wani), dar.imtiaz5@gmail.com (I. Hussain)

This result is sharp and equality holds for the polynomial  $P(z) = (z+1)^n$ .

As an extension of (1.2), Malik [9] proved that if  $P(z)$  does not vanish in  $|z| < k, k \geq 1$ , then

$$M(P',1) \leq \frac{n}{1+k}M(P,1), \tag{1.4}$$

whereas Govil [7] under the same hypothesis proved that

$$M(P',1) \leq \frac{n}{1+k} \left\{ M(P,1) - m(P,k) \right\}. \tag{1.5}$$

In the literature there exist several generalizations and extensions of the above inequalities, for example see [2, 5, 6, 12–15]. As a generalization of inequality (1.4), Dewan and Bidkham [5] proved that if  $P(z)$  has no zeros in  $|z| < k, k \geq 1$ , then for  $0 \leq r \leq \rho \leq k$ ,

$$M(P',\rho) \leq n \frac{(\rho+k)^{n-1}}{(k+r)^n} M(P,r). \tag{1.6}$$

Recently Dewan and Mir [6] generalized inequality (1.6) and proved that if  $P(z) = \sum_{j=0}^n a_j z^j$  is a polynomial of degree  $n$  having no zeros in  $|z| < k, k \geq 1$ , then for  $0 \leq r \leq \rho \leq k$ ,

$$M(P',\rho) \leq n \frac{(\rho+k)^{n-1}}{(k+r)^n} \left\{ 1 - \frac{k(k-\rho)(n|a_0| - k|a_1|)n}{n|a_0|(k^2 + \rho^2) + 2k^2\rho|a_1|} \left( \frac{\rho-r}{k+\rho} \right) \left( \frac{k+r}{k+\rho} \right)^{n-1} \right\} M(P,r). \tag{1.7}$$

Further, Aziz and Zargar [2] obtained a generalization of (1.7) by proving the following result.

**Theorem 1.1.** *If  $P(z) = \sum_{j=0}^n a_j z^j$  is a polynomial of degree  $n$  having no zeros in  $|z| < k, k \geq 1$ , then for  $0 \leq r \leq \rho \leq k$ ,*

$$M(P',\rho) \leq \frac{n}{\rho+k} \left[ \left( \frac{\rho+k}{k+r} \right)^n \left\{ 1 - \frac{k(k-\rho)(n|a_0| - k|a_1|)n}{n|a_0|(k^2 + \rho^2) + 2k^2\rho|a_1|} \left( \frac{\rho-r}{k+\rho} \right) \left( \frac{k+r}{k+\rho} \right)^{n-1} \right\} M(P,r) \right. \\ \left. - \left\{ \frac{(n|a_0|\rho + k^2|a_1|)(r+k)}{n|a_0|(k^2 + \rho^2) + 2k^2\rho|a_1|} \left( \left( \frac{\rho+k}{r+k} \right)^n - 1 \right) - n(\rho-r) \right\} m(P,k) \right]. \tag{1.8}$$

The result is best possible and equality holds in (1.8) for  $P(z) = (z+k)^n$ .

Recently Zireh [12] obtained the following result which is a refinement of (1.8) and proved.

**Theorem 1.2.** *If  $P(z) = \sum_{j=0}^n a_j z^j$  is a polynomial of degree  $n$  having no zeros in  $|z| < k, k \geq 1$ , then for  $0 \leq r \leq \rho \leq k$ ,*

$$\begin{aligned}
 M(P', \rho) &\leq \frac{n(n|a_0|\rho+k^2|a_1|)}{(\rho^2+k^2)n|a_0|+2k^2\rho|a_1|} \\
 &\times \left[ \left(\frac{\rho+k}{k+r}\right)^n \left\{ 1 - \frac{k(k-\rho)(n|a_0|-k|a_1|)n}{n|a_0|(k^2+\rho^2)+2k^2\rho|a_1|} \left(\frac{\rho-r}{k+\rho}\right) \left(\frac{k+r}{k+\rho}\right)^{n-1} \right\} M(P,r) \right. \\
 &\left. - \left\{ \frac{(n|a_0|\rho+k^2|a_1|)(r+k)}{n|a_0|(k^2+\rho^2)+2k^2\rho|a_1|} \left( \left(\frac{\rho+k}{r+k}\right)^n - 1 \right) - n(\rho-r) \right\} m(P,k) \right]. \quad (1.9)
 \end{aligned}$$

The result is best possible and equality holds in (1.9) for  $P(z) = (z+k)^n$ .

More recently Mir, Baba and Pukhta [10] proved the following result

**Theorem 1.3.** *If  $P(z) = a_0 + \sum_{j=\mu}^n a_j z^j$  is a polynomial of degree  $n$  having no zeros in  $|z| < k, k > 0$ , then for  $0 \leq r \leq \rho \leq k$ ,*

$$\begin{aligned}
 &M(P', \rho) \\
 &\leq \frac{n\rho^{\mu-1}}{\rho^\mu+k^\mu} \left[ \left(\frac{\rho^\mu+k^\mu}{k^\mu+r^\mu}\right)^{\frac{n}{\mu}} \left\{ 1 - \frac{k^\mu(k-\rho)(n|a_0|-k^\mu\mu|a_\mu|)n}{\mu(|a_0|(k^{\mu+1}+\rho^{\mu+1})+\mu|a_\mu|(k^{2\mu}\rho+k^{\mu+1}\rho^\mu))} \right. \right. \\
 &\times \left. \left. \left(\frac{\rho^\mu-r^\mu}{k^\mu+\rho^\mu}\right) \left(\frac{k^\mu+r^\mu}{k^\mu+\rho^\mu}\right)^{\frac{n}{\mu}-1} \right\} M(P,r) \right. \\
 &\left. - \left\{ \frac{(n|a_0|\rho+\mu k^{\mu+1}|a_\mu|)(r+k)}{n|a_0|(k^{\mu+1}+\rho^{\mu+1})+\mu|a_\mu|(k^{2\mu}\rho+k^{\mu+1}\rho^\mu)} \left( \left(\frac{\rho^\mu+k^\mu}{r^\mu+k^\mu}\right)^{\frac{n}{\mu}} - 1 \right) - \frac{n}{\mu} \left(\frac{\rho^\mu-r^\mu}{r^\mu+k^\mu}\right) \right\} m(P,k) \right]. \quad (1.10)
 \end{aligned}$$

The result is best possible and equality holds in (1.10) for  $P(z) = (z^\mu+k^\mu)^{\frac{n}{\mu}}$ , where  $n$  is a multiple of  $\mu$ .

In the proof of Theorem 1.1, one can find a miscalculation in one of the lemmas used to prove it due to which the result does not come out to be more refined as it must come out to be. The same lemma was used to prove Theorem 1.2, hence Theorem 1.2 faces the same thing as well.

## 2 Lemmas

In the proof we shall make use of the following lemmas.

**Lemma 2.1.** *If  $P(z) = \sum_{j=0}^n a_j z^j$  is a polynomial of degree  $n$  having no zeros in  $|z| < k, k \geq 1$ , then*

for  $0 \leq r \leq \rho \leq k$ ,

$$M(P, \rho) \leq \left(\frac{\rho+k}{k+r}\right)^n \left[ 1 - \frac{k(k-\rho)(n|a_0|-k|a_1|)n}{n|a_0|(k^2+\rho^2)+2k^2\rho|a_1|} \left(\frac{\rho-r}{k+\rho}\right) \left(\frac{k+r}{k+\rho}\right)^{n-1} \right] M(P, r) - \left[ \frac{(n|a_0|\rho+k^2|a_1|)(r+k)}{n|a_0|(k^2+\rho^2)+2k^2\rho|a_1|} \left( \left(\frac{\rho+k}{r+k}\right)^n - 1 \right) - n(\rho-r) \right] m(P, k). \tag{2.1}$$

The above lemma is due to Aziz and Zargar [2].

The above Lemma 2.1 was used to prove Theorem 1.1 and Theorem 1.2. One can find that in the above inequality (2.1), one of the term comes out to be  $-n(\rho-r)$  instead of  $-n\left(\frac{\rho-r}{r+k}\right)$  due to miscalculation. The correct proof of Lemma 2.1 can be obtained by Lemma 2.3 for  $\mu=1$ .

**Lemma 2.2.** *If*

$$P(z) = a_0 + \sum_{j=\mu}^n a_j z^j, \quad 1 \leq \mu \leq n,$$

*is a polynomial of degree  $n$  having no zeros in  $|z| < k, k \geq 1$ , then*

$$M(P', 1) \leq n \frac{1 + \frac{\mu}{n} \left| \frac{a_\mu}{a_0} \right| k^{\mu+1}}{1 + k^{\mu+1} + \frac{\mu}{n} \left| \frac{a_\mu}{a_0} \right| (k^{\mu+1} + k^{2\mu})} M(P, 1). \tag{2.2}$$

The above lemma is due to Qazi [11].

**Lemma 2.3.** *If  $P(z) = a_0 + \sum_{j=\mu}^n a_j z^j, 1 \leq \mu \leq n$ , is a polynomial of degree  $n$  having no zeros in  $|z| < k, k > 0$ , then for  $0 \leq r \leq \rho \leq k$ ,*

$$M(P, \rho) \leq \left(\frac{\rho+k^\mu}{k^\mu+r^\mu}\right)^{\frac{n}{\mu}} \times \left[ 1 - \frac{k^\mu(k-\rho)(n|a_0|-k^\mu\mu|a_\mu|)n}{\mu(|a_0|(k^{\mu+1}+\rho^{\mu+1})+\mu|a_\mu|(k^{2\mu}\rho+k^{\mu+1}\rho^\mu))} \left(\frac{\rho^\mu-r^\mu}{k^\mu+\rho^\mu}\right) \left(\frac{k^\mu+r^\mu}{k^\mu+\rho^\mu}\right)^{\frac{n}{\mu}-1} \right] M(P, r) - \left[ \frac{(n|a_0|\rho+\mu k^{\mu+1}|a_\mu|)(r+k^\mu)}{n|a_0|(k^{\mu+1}+\rho^{\mu+1})+\mu|a_\mu|(k^{2\mu}\rho+k^{\mu+1}\rho^\mu)} \left\{ \left(\frac{\rho^\mu+k^\mu}{r^\mu+k^\mu}\right)^{\frac{n}{\mu}} - 1 \right\} - \frac{n}{\mu} \left(\frac{\rho^\mu-r^\mu}{r^\mu+k^\mu}\right) \right] m(P, k). \tag{2.3}$$

The above lemma is due to Mir, Baba and Pukhta [10].

Now with the help of Lemma 2.3 (for  $\mu=1$ ), Theorem 1.1 takes the form

**Theorem 2.1.** *If  $P(z) = \sum_{j=0}^n a_j z^j$  is a polynomial of degree  $n$  having no zeros in  $|z| < k, k \geq 1$ , then for  $0 \leq r \leq \rho \leq k$ ,*

$$M(P', \rho) \leq \frac{n}{\rho+k} \left[ \left(\frac{\rho+k}{k+r}\right)^n \left\{ 1 - \frac{k(k-\rho)(n|a_0|-k|a_1|)n}{n|a_0|(k^2+\rho^2)+2k^2\rho|a_1|} \left(\frac{\rho-r}{k+\rho}\right) \left(\frac{k+r}{k+\rho}\right)^{n-1} \right\} M(P, r) - \left\{ \frac{(n|a_0|\rho+k^2|a_1|)(r+k)}{n|a_0|(k^2+\rho^2)+2k^2\rho|a_1|} \left( \left(\frac{\rho+k}{r+k}\right)^n - 1 \right) - n\left(\frac{\rho-r}{r+k}\right) \right\} m(P, k) \right],$$

and Theorem 1.2 takes the form

**Theorem 2.2.** *If  $P(z) = \sum_{j=0}^n a_j z^j$  is a polynomial of degree  $n$  having no zeros in  $|z| < k, k \geq 1$ , then for  $0 \leq r \leq \rho \leq k$ ,*

$$M(P', \rho) \leq \frac{n(n|a_0|\rho + k^2|a_1|)}{(\rho^2 + k^2)n|a_0| + 2k^2\rho|a_1|} \times \left[ \left(\frac{\rho+k}{k+r}\right)^n \left\{ 1 - \frac{k(k-\rho)(n|a_0| - k|a_1|)n}{n|a_0|(k^2 + \rho^2) + 2k^2\rho|a_1|} \left(\frac{\rho-r}{k+\rho}\right) \left(\frac{k+r}{k+\rho}\right)^{n-1} \right\} M(P, r) - \left\{ \frac{(n|a_0|\rho + k^2|a_1|)(r+k)}{n|a_0|(k^2 + \rho^2) + 2k^2\rho|a_1|} \left( \left(\frac{\rho+k}{r+k}\right)^n - 1 \right) - n\left(\frac{\rho-r}{r+k}\right) \right\} m(P, k) \right].$$

**Remark 2.1.** If we take  $\mu=1$  in Theorem 1.3, we get Theorem 2.1, for  $k > 0$ , hence Theorem 1.3 is a generalization and an extension of Theorem 2.1.

In this paper, as we have already corrected Theorem 1.1 and Theorem 1.2. Next we obtain the following result which generalizes Theorem 2.2 and also refines the inequality (1.10). More precisely, we prove

**Theorem 2.3.** *If  $P(z) = a_0 + \sum_{j=\mu}^n a_j z^j, 1 \leq \mu \leq n$ , is a polynomial of degree  $n$  having no zeros in  $|z| < k, k > 0$ , then for  $0 \leq r \leq \rho \leq k$ ,*

$$M(P', \rho) \leq n\rho^{\mu-1} \left\{ \frac{n|a_0|\rho + \mu k^{\mu+1}|a_\mu|}{n|a_0|(k^{\mu+1} + \rho^{\mu+1}) + \mu|a_\mu|(k^{2\mu}\rho + k^{\mu+1}\rho^\mu)} \right\} \times \left[ \left(\frac{\rho^\mu + k^\mu}{k^\mu + r^\mu}\right)^{\frac{n}{\mu}} \left\{ 1 - \frac{k^\mu(k-\rho)(n|a_0| - k^\mu|a_\mu|)n}{\mu(|a_0|(k^{\mu+1} + \rho^{\mu+1}) + \mu|a_\mu|(k^{2\mu}\rho + k^{\mu+1}\rho^\mu))} \left(\frac{\rho^\mu - r^\mu}{k^\mu + \rho^\mu}\right) \left(\frac{k^\mu + r^\mu}{k^\mu + \rho^\mu}\right)^{\frac{n}{\mu}-1} \right\} M(P, r) - \left\{ \frac{(n|a_0|\rho + \mu k^{\mu+1}|a_\mu|)(r+k)}{n|a_0|(k^{\mu+1} + \rho^{\mu+1}) + \mu|a_\mu|(k^{2\mu}\rho + k^{\mu+1}\rho^\mu)} \left( \left(\frac{\rho^\mu + k^\mu}{r^\mu + k^\mu}\right)^{\frac{n}{\mu}} - 1 \right) - \frac{n}{\mu} \left(\frac{\rho^\mu - r^\mu}{r^\mu + k^\mu}\right) \right\} m(P, k) \right].$$

**Remark 2.2.** For  $\mu = 1$ , Theorem 2.3 reduces to Theorem 2.2, for  $k > 0$ . Also it is well known (for example see [4, Proof of Lemma 2.4]), that if  $P(z) = a_0 + \sum_{j=\mu}^n a_j z^j, 1 \leq \mu \leq n$ , is a polynomial of degree  $n$  having no zeros in  $|z| < k, k > 0$ , then

$$\frac{\mu}{n} \frac{|a_\mu|}{|a_0| - m(P, k)} k^\mu \leq 1,$$

which implies

$$\frac{\mu}{n} \left| \frac{a_\mu}{a_0} \right| k^\mu \leq 1,$$

which is equivalent to

$$\frac{n|a_0|\rho + \mu k^{\mu+1}|a_\mu|}{n|a_0|(k^{\mu+1} + \rho^{\mu+1}) + \mu|a_\mu|(k^{2\mu}\rho + k^{\mu+1}\rho^\mu)} \leq \frac{1}{k^\mu + \rho^\mu}.$$

From this it is easy to see that Theorem 2.3 is an improvement of inequality (1.10).

If we put  $n|a_0| = \mu|a_\mu|k^\mu$  in Theorem 2.3, we get the following result.

**Corollary 2.1.** If  $P(z) = a_0 + \sum_{j=\mu}^n a_j z^j$ ,  $1 \leq \mu \leq n$ , is a polynomial of degree  $n$  having no zeros in  $|z| < k$ ,  $k > 0$ , then for  $0 \leq r \leq \rho \leq k$ ,

$$M(P', \rho) \leq n\rho^{\mu-1} \left( \frac{\rho+k}{k^{\mu+1} + \rho^{\mu+1} + k^\mu \rho + k\rho^\mu} \right) \left( \frac{\rho^\mu + k^\mu}{r^\mu + k^\mu} \right)^{\frac{n}{\mu}} \\ \times \left[ M(P, r) - \left( \frac{r^\mu + k^\mu}{\rho^\mu + k^\mu} \right) \left\{ 1 - \left( \frac{r^\mu + k^\mu}{\rho^\mu + k^\mu} \right)^{\frac{n}{\mu}} - \frac{n(\rho^\mu - r^\mu)(r^\mu + k^\mu)^{\frac{n}{\mu}-1}}{\mu(k^\mu + \rho^\mu)^{\frac{n}{\mu}}} \right\} m(P, k) \right].$$

The result is best possible and equality holds for the polynomial  $P(z) = (z^\mu + k^\mu)^{\frac{n}{\mu}}$ , where  $n$  is a multiple of  $\mu$ .

### 3 Proof of theorem

*Proof of Theorem 2.3.* Since  $P(z)$  has no zeros in  $|z| < k$ ,  $k > 0$ , then for  $0 < \rho \leq k$ , it follows that  $T(z) = P(\rho z)$  has no zero in  $|z| < \frac{k}{\rho}$ , where  $\frac{k}{\rho} \geq 1$ . Applying Lemma 2.2 to the polynomial  $T(z)$ , we get

$$M(T', 1) \leq n \frac{1 + \frac{\mu}{n} \left| \frac{\rho^\mu a_\mu}{a_0} \right| \left( \frac{k}{\rho} \right)^{\mu+1}}{1 + \left( \frac{k}{\rho} \right)^{\mu+1} + \frac{\mu}{n} \left| \frac{\rho^\mu a_\mu}{a_0} \right| \left( \left( \frac{k}{\rho} \right)^{\mu+1} + \left( \frac{k}{\rho} \right)^{2\mu} \right)} M(T, 1),$$

which implies,

$$M(P', \rho) \leq n\rho^{\mu-1} \left[ \frac{n|a_0|\rho + \mu k^{\mu+1}|a_\mu|}{n|a_0|(k^{\mu+1} + \rho^{\mu+1}) + \mu|a_\mu|(k^{2\mu}\rho + k^{\mu+1}\rho^\mu)} \right] M(P, \rho). \tag{3.1}$$

Now if  $0 \leq r \leq \rho \leq k$ , then from (3.1) it follows with the help of Lemma 2.3 that

$$M(P', \rho) \\ \leq n\rho^{\mu-1} \left\{ \frac{n|a_0|\rho + \mu k^{\mu+1}|a_\mu|}{n|a_0|(k^{\mu+1} + \rho^{\mu+1}) + \mu|a_\mu|(k^{2\mu}\rho + k^{\mu+1}\rho^\mu)} \right\} \\ \times \left[ \left( \frac{\rho^\mu + k^\mu}{k^\mu + r^\mu} \right)^{\frac{n}{\mu}} \left\{ 1 - \frac{k^\mu(k-\rho)(n|a_0| - k^\mu \mu|a_\mu|)n}{\mu(|a_0|(k^{\mu+1} + \rho^{\mu+1}) + \mu|a_\mu|(k^{2\mu}\rho + k^{\mu+1}\rho^\mu))} \left( \frac{\rho^\mu - r^\mu}{k^\mu + \rho^\mu} \right) \left( \frac{k^\mu + r^\mu}{k^\mu + \rho^\mu} \right)^{\frac{n}{\mu}-1} \right\} M(P, r) \right. \\ \left. - \left\{ \frac{(n|a_0|\rho + \mu k^{\mu+1}|a_\mu|)(r+k)}{n|a_0|(k^{\mu+1} + \rho^{\mu+1}) + \mu|a_\mu|(k^{2\mu}\rho + k^{\mu+1}\rho^\mu)} \left( \left( \frac{\rho^\mu + k^\mu}{r^\mu + k^\mu} \right)^{\frac{n}{\mu}} - 1 \right) - \frac{n(\rho^\mu - r^\mu)}{\mu(r^\mu + k^\mu)} \right\} m(P, k) \right],$$

this completes the proof of Theorem 2.3. □

## Acknowledgements

The work is sponsored by UGC, Government of India under the Major Research Project Scheme vide No. MRP-MAJOR-MATH-2013-29143. The authors are very grateful to the referee(s) for their valuable suggestions regarding the paper.

## References

- [1] A. Aziz and Q. M. Dawood, Inequalities for a polynomial and its derivative, *J. Approx. Theory*, 54 (1988), 306–313.
- [2] A. Aziz and B. A. Zargar, Inequalities for the maximum modulus of the derivative of a polynomial, *J. Ineq. Pure Appl. Math.*, 8 (2007), 1–15.
- [3] S. Bernstein, *Lecons Sur Les Proprietes Extremals et la Meilleure Approximation des Fonctions Analytiques d'une Fonctions Reelle*, Gauthier-Villars (Paris 1926).
- [4] B. Chanam and K. K. Dewan, Inequalities for a polynomial and its derivative, *J. Math. Anal. Appl.*, 336 (2007), 171–179.
- [5] K. K. Dewan and M. Bidkham, Inequalities for a polynomial and its derivative-II, *J. Math. Anal. Appl.*, 190 (1995), 625–629.
- [6] K. K. Dewan and A. Mir, On the maximum modulus of a polynomial and its derivative, *Int. J. Math. Sci.*, 16 (2005), 2641–2645.
- [7] N. K. Govil, Some inequalities for derivatives of polynomials, *J. Approx. Theory*, 66 (1991), 29–35.
- [8] P. D. Lax, Proof of a conjecture of P. Erdős on the derivative of a polynomial, *Bull. Amer. Math. Soc.*, 50 (1944), 509–513.
- [9] M. A. Malik, On the derivative of a polynomial, *J. London Math. Soc.*, 1 (1969), 57–60.
- [10] A. Mir, S. A. Baba and M. S. Pukhta, Inequalities concerning maximum modulus of polynomials, *Thai J. Math.*, 9 (2011), 297–304.
- [11] M. A. Qazi, On the maximum modulus of polynomials, *Proc. Amer. Math. Soc.*, 115 (1992), 337–343.
- [12] A. Zireh, Maximum modulus of the derivatives of a polynomial, *Int. J. Nonlinear Anal. Appl.*, 2 (2011), 109–113.
- [13] A. Zireh and M. Bidkham, Some inequalities for the polynomial with  $s$ -fold zeros at the origin, *Anal. Theory Appl.*, 32 (2016), 27–37.
- [14] A. Zireh, S. Kumar and K. K. Dewan, Some generalization for an operator which preserving inequalities between polynomials, *Anal. Theory Appl.*, 30 (2014), 260–274.
- [15] A. Zireh, E. Khojastehnejhad and S. R. Musawi, Some results concerning growth of polynomials, *Anal. Theory Appl.*, 29 (2013), 37–46.